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B, Han bR EE P “cannot (R EE)” . “must be (1) " . “acceptable( B] BB . 8] LLEERZ )",
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Questions 1 ~ 3

Five experienced plumbers—Frank, Gene, Jill, Kathy, and Mark—and four inexperienced
plumbers—Roberta, Sally, Tim, and Vernon—must decide which of them will be assigned
to four work teams of exactly two plumbers each.Assignments must meet the following
restrictions:

Each plumber is assigned to at most one team;

At least one plumber on each team must be experienced;

Neither Mark nor Roberta nor Vernon can be assigned to a team with Frank;

If Tim is assigned to a team, either Gene or Kathy must be assigned to that team;

Jim cannot be assigned to a team with Roberta;

Question 1: which one of the following is an inexperienced plumber who can be assigned
to a team with Frank?
(A) Kathy (B) Roberta (C) sally
(D) Tim (E) Vernon
Question 2 : Which one of the following is a pair of plumbers who can be assigned togeth-
er to a team?
(A) Frank and Roberta  (B) Frank and Vernon  (C) Jill and Mark
(D) Roberta and Tim (E) Sally and Vernon
Question 3: If Gene is not assigned to a team, then Jill must be assigned to a team with
(A) Vernon (B) Tim (C) Mark
(D) Kathy (E) Frank

XR—SHERBMARLERE, EXFEB(ERMBHTHMBHF TR
(BHARMR), —RAEZRMNEHET S A:F.GJIKM _EBASRHEET 4 A
R,S,T,V. ERMK 44, B0 2 A, BMFUT R (ARES) AH AT

QBABZRBHREE—TB;

QBANELA 1 ARFLRHEHL;

@F# M,R, 2 VEARER FE—1B;

@QMB THEEN NEA G REA KLATEHRTB;

®J e R 4 E—1BA;

EEAER.Q9AGCAERR, 4 AEBR); QR4 T BA2A;

3 {87 : experienced, inexperienced, must, each, at most, at least, neither-*-nor--nor

cerjfeee ,eithel""or"' ,cannot be---
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FHFE—:NE— BEERRESTHRIAPHE - XLRWEETATRR F 4
RE—/?”S ABRTLEMN | FEEL, MBEEER, RN ZASBEZRHE
BT, MARBREEEA),.BHKREZ2RNEEL, EE5RAMTER FERXE
iR AP REARN, BAFEASROSET REFRXEE(FR)SM2 AR
BEAHFOOOHKGB)(E)FH, G TSH T, IRKERFR F2E—-TKAR,R
EHHALEFE XA RBERM B2 GOTHE T AR FoHE—NK, Kl
HeBR (D), 8 R S ATBER F 0 — 4B\ Fr AR BEE R E (C)o

M RE_WEEEERE S NETP WA TR E— T KA —
RIEH? BRSANASERPRBARTREAZSEE DB, AT EEDSEH
H&BQ,MEV I ALFREEZ2RO—A MBI AKRBB-ARARH. BA
(D) (E)BA SIS R & KHQ, %Mo HBrH . MT(A).(B).(C)=ZH, B—1
E#B? Hb(A) . (B)FABEFS5RE VHARAS, & HQOH M, F AR R &R
VAE—ABA, (A (B)WARTER L. BT REC)ARE—FIEBMET(H XL
%) HERAER, HELEW(C)ER, hAHQETHAM, (COOMPHRANXAFL
RYGET , HABEREAHOQ. FLL FEERE(C),

S :AE=MERR MR G REIEABN, B4 JLARESE—TB?"IH
BYERFEANBRFTE:GHIEEMBREGR GAMEAN. ARXABNEGRHA
ZRNEGET,JUR—GAZLRMNEEL, i &HFOOT ML, MR G AFBEABK, B
LENEEM 4 ZE2RMEEL.FJEKMAHNS54 £ X2ROEHTL RS, T,V
AR AN, B2 A, —AEEZR, -AX2KR. BRIZ-LALRNETETIRR
BE—ZEARNEETARE—TR. ZSAETR, REA) (BFETARROE
EARMEET, HM(C), (D), (E)=TRENBEAZRNEETL, NEXLHHAR
2. Ba(A) (BT B RN VAT, ARETERRI - B4RE—IAR? &k
@R, T HER G & KAE—, MR G RARAN, KA T R K&~
ABA LB T RE SRR B A B R — A ATTHERR TR J A E— AT MRt &
TESARTRRA VATRRE I SE—TFUZEERRA).

Mg OREEEERESEH FERBHT, WA BRTR(BHENHXR)RH
2SO LR BT B 0 R AT AT AT A B AT, X 3K R ZE R 3 B8 X
DA, R RN, W RGOM R at least” ) F LR EL” IRMAHTEE
MEER. “EAH 1 AKAESRNEE T, BHAHRIANXAFALRNEH
T xR ER, M ERM RIEAE-MERET(COHFRKEE.

QR £ B - B 5E 5 B (AR B R A & T B R AR — B BRI
Bz, T 45/ b #2548 W AR JE B9 — PO 3K XRE—FMIEEE AT
R EATREREFEH ZEMAE.
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Questions 4 ~ 6

A professor will listen to exactly one speech from each of six students—H,J,K,R,S,
and T.The six speeches will be delivered one at a time, consecutively, according to the
following conditions:

The speeches delivered by H,J, and K, no matter what their order relative to each oth-

er, cannot form a sequence of three consecutive speaches.

The speeches delivered by R, S,and T, no matter what their order relative to each oth-

er, cannot form a sequence of three consecutive speeches.

H’s speech must be earlier than S’s speech.

J's speech can be neither first nor sixth.

T’s speech can be neither immediately before nor immediately after J's speech.

Question 4: Which one of the following could be the order, from first to last,in which the
students deliver their speeches?

(A) H,J,R,S,T,K

(B) H,R,T,K,S,J

(C) X,J,T,H,S,R

(D) R,J,K,T,H,S

(E) T,R,J,S,K,H
Question 5:If T delivers the third speech,which one of the following must be true?

(A) H delivers the first speech

(B) J delivers the fifth speech

(C) K delivers the fourth speech

(D) R delivers the sixth speech

(E) S delivers the fourth speech
Question 6 : If K delivers the third speech,any of the following could be the student who
makes the fourth speech EXCEPT

(A) H (B) J (C) R (D)s (E)T

KRR AR A, R RREEER . HRMARRSE. B
WILEN 6 &24 H,J,K,R,S, T, BK (3% 1 ~ 6 UF) B WK (BARWH), 87
THIHE :

DH,J, K, T B 1H 2 [8) #6107 fufe] , A 48 T8 R 8 4% B9 OUFF 5

QR4 ,R,S, T = AL BETE L% 5 BT ;
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QH LHHE S ZHl;

@I RBEE—BEN;

OT RERRAAEIZHHIZG;BIIMR T=F=,MI=$ " or HW;

%38 : consecutive % 2£#9, % B &9, consecutively # Bt #b, i% 4 #1 , cannot -+ no
matter what -+ f:"teﬁ‘z ...... must be - h5Fj--e - earlier --- B F------ neither ---nor-+
BEAN oot ‘UZZ‘: ...... immediately TNV ;| RRTREE can be --B] PL--e oo ﬂ'ﬁé ......

S EENE R .0 AN 1 ~6 HEFRIREMIIUY, ERHEREHRSER
ZEMFERR—BOER, E/NEFHE AEREERHER. (AR,S, THEEY
B, BREFEEQ, THREHBRZ ;(B)I #EHES S, BAEREZH@, B # HEEF
Z R, (C)ERAHD,(E)EREAMHQ, HREHRZ; RE(D)AERIAX KB
WG, ETRERS, FELEEE U, FBERED),

SFABEEERMBTHES=ANHF, BAES N EETHBEN—EER
(must be true)”,

3% 18 BB ¥ BE 3% K , must be true & XA B E HE" WA R BTN EBARRE,
AEREMBNARERET, B, RNLFABRTHEZ"X—HEREFESIBH
W HER], B (e s AZ—) WU BT UMZHER? RIBEE, TLAEHWT
3

1 2 3 4 5 6
T J

MEERLTE THEXNEAEOAT BHI EEAEHELE-RFN, ATRHEES
— HEA, ISR AHOEM I REBHESE —HEN, 8 RegHES 1,
EFRET(B) R ARMER . BX, BET HE="X—HR&&EH, mMZBEE 5%
BT B E(B)IEH, XE—FMEABKBERNTE AKREE®X.

SHEABEEEE MEKHES=S, WS MRMPRTHEZSSTRELE. &
& EXCEPT & X H“BR T - Z4h", i “could be---except:-- " # 2% F “cannot be -+, & B
“RAfE-" , FUEBER XA L EB A MR KHE=miSEA T BHESEN," R
W EMERTE KATF, ERERPREILEKK WA RG. RIBEE,
A PAg T R HES

1 2 3 4 5 6
K

HFEREHEOBRBHFTE K, AL B KA H,J AargeHesE e — S8 W,
BB 4 3% 75\ BUR #E AT LA B B A SR HEE SR IO R? (B FRMWEHFTRRS, TRKXE
AKX, B3 KﬁFE%EiX—*%#H‘J%“F&*ﬁ,Fﬁiﬁ&ﬂ‘]ﬁ?lﬁ%%JB[ﬁEF%ﬁ‘ﬁ'
BRI . B H AREHEZESE I, B4 HaUHES e L, AEBEHES
— T L, W 6 ATTBRHEFIMUR R -
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BmE A, b EERAHNSEFEERREMER, BRSRIER, KB
RAGIES, B HARHESN, FULEERRE(A) . XEMMENEHEEZM,

NG OHFFREH M BT A OBE R KX AR E MR R G2 /A
T3 FF 490 R 5 0 LB Bl o — MBUABORR T A R AR UK 57 ML A X i HE i BT LA WS A9 (2 3, R S
BREEHAGAFBHER, EOMEEIED AR EHLM %, BRI
3 J% 5] B = 28 o) B OR o O , A % A OF AR b 7 PR HE B 4B 9 S ARHE U BT A T B
RO, FEBE EMOAT R KNSR ERRE IR, B RHFIAGREBOT K, BTN
WRBE, FEREAT ERHEDTE, R BH", BIFHE . X0 8RR KT A
FEBE KRB S I R W, HEBR , IRE, M AR A Sk, R SE , ST A
RAEM AT EER.

QHKYE MEFARAGOA AR 2 MHRTUARBEERHALSRERABLNER
IR I7 %, R AL BT iE A .

R B o 2 45 48 BB 1 © 20 AR 0 9 I S A R 001 T MR IE M 48R, 3F A B LA %
P R AT R BI04 E MR E W, W R TR AT R R4, DA T o 5 % 1K T
HIEBEBERG—FI %K, MEIBEAIERH.

Questions 7 ~ 9

A newly formed company has five employees—F, G, H, K, and L. Each employee holds
exactly one of the following positions: president, manager, or technician. Only the presi-
dent is not supervised. Other employees are each supervised by exactly one employee,
Who is either the president or a manager.Each supervised employee holds a different
position than his or her supervisor. The following conditions apply:

There is exactly one president.

At least one of the employees whom the president supervises is a manager.

Each manager supervises at least one employee.

F does not supervise any employee.

G supervises exactly two erployees.

Question 7: Which one of the following is an acceptable assignment of employees to the

positions?
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President Manager Technician
(A) G H,K,L F
(B) G H F,K,L
(C) H F,G K,L
(D) H,K G F,L
(E) K F,G,H,L —

Question 8: Which one of the following must be true?

(A) There are at most three technicians.

(B) There is exactly one technician.

(C) There are at least two managers.

(D) There are exactly two managers.

(E) There are exactly two employees who supervise no one.
Question 9:If K supervises exactly two employees, which one of the following must be
true?

(A) F is supervised by K.

(B) G is a manager.

(C) L is supervised.

(D) There are exactly two managers.

(E) There are exactly two technicians.

XR—ARBYSHENFRE B RN R(BERTRIZSZMRAF,G,H,
K,L, }LER{ & 3 F : president. manager . technician, i1 #E4E A A BRAL, 553 IR 3T FR #4
%O~ OWER:

DOnly the president is not supervised. HBR“NA B R(RBLH)FXER",

@Other employees are each supervised by exactly one employee, who is either the
president or a manager. B2 “‘HAERAZERX—ZL2BHR",

@ There is exactly one president. R R“HRIAE 1 BER", exactly Z“H1l,
T R ER,

@At least one of the employees whom the president supervises is a manager. p . 9
EARUBHEATELE 1 ARESH,

®Each manager supervises at least one employee. R B R BHULBELUE 1 &
B,

®F does not supervise any employee. ¥ B & F A EEMTREAR .

@G supervises exactly two employees. BB G AW 2 ZMF . exactly Z A
Wk i B — Bl “only,, rust” , H P , X BE AT ARMBERRHET .
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AL BMEERRETH S AN ERBPE 4B F R o] IR SR EH. N E
SAET,REBEANTF AHH AN T TREH ATUEZ, SARBTEHTHERIE
7 XELRE—FEM, BRLLH NRHEFERER T ENERE, M TXLLY
RE , B % £ 356 71 A7 B IF W AT LA BE SR £ Al A, B S AN RE I b 4R M HF IR - D I A
FTAE (AT L) oL , A6 8 B B SR ARE 5 T A BR i 2k 4, R 43X > 2 100K AT LA R SE K oW ¥
R, RINEMNEZSHREMNENERTEFAF A HOQO@EAMF—EHARE
Technician, RENEBASHEM BN ERTER G FREHIT , R HOHERY G ¥
2R president, 4 J& manager, %& 5 D, iE AW B, ¥ G & president, 4 /)
HEE, S (A) (BB, BR, BRGORR (A) R AT B L, i (B) AT BE &
SCAR RS, AR ERE &G FABEER FTU(B) RABER, KK, EH
e BERRSRALE ., HEAGHCOHR(C), Kk HEQHR (D), i A HOQOHEE
(B), #(C),(D) (EYHRUWHERIL, RAE(B)ARM— HERKET WABER,

SHN XA BRI 5 A ETUP B — N5 & IE B, i & “must be true” WK F
X, MBS ART, BTk — SRR R, X E A R R, - A
FHER R B AR R L (RS EERSE) W&, —RETRIESTE,
EHEE—EER NAHEZ, X ERIEAGEE, 7 0% 58 HEBR F 50 Uk 5 B 91E
WEE, SAKTHRA FREESIRUGES SO AMEME, B4 (B)fsh, (LR
B2 ARBERMBA,XEAEEN, K technician A4 RH 2 AWE, MAZK
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